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If the genotypes determining the blood groups of a couple are FII? and FP, then the

probability of their first child having type O blood i3
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A cross was carried out between two individuals heterozygous for two pairs of genes
was carried out. Assuming segregation and independent assortment. the number of
different genotypes and phenotypes obtained respectively would be

A 4and9

B. 6and 3

C. 9and 4

D. 11 and 4
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If the H™ concentration of an aqueous solution 15 0.001 M. then the pOH of the solution
would be

A. 0.001

B. 0.999
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Consider the following vision defects listed in Columns I & II and the corrective

measures in Column III. Choose the correct combination.

Column I Column II Column III
P. Hypermetropia 1. near-sightedness a. convex lens
Q. Myopia 1. far-sightedness b. concave lens
A P-11-b
B. Q-1-b
bk P-1-a
D. Q-1-a

Question Number : 79 Question Id : 6584303999 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical



w9 1 AR A Yeitag &= gioamarr aun &9 1113 {50 T 39 3167 & @9ei & atiw 9 ==

&

LS w11 w9 111
P. FFTEa i. Fekaafetar a. 3 @i
Q. M=z 3fam ii. 3@ b. ¥Taae el

T H 3 TS THERT 3 AR W AR (e &1 9 7

A. P-ii-b
B. Q-i-b
C. P-i-a
D. Q-i-a
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Which ONE of the following properties causes the plant tendrils to coil around a
bamboo stick?
A. Tendril has spines
B. The base of the tendril grows faster than the tip
C. Part of the tendril in contact with the bamboo stick grows at a slower rate than
the part away from it

D. The tip of the tendnl grows faster than the base
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KVPY 2018 ANSWER KEYS FOR SA
Question 1 to 60, 1 Mark for correct answer and -0.25 for wrong answer

Question 61 to 80, 2 Mark for correct answer and -0.5 for wrong answer

Q. No Key Q. No Key Q. No. Key Q. No Key
1 D 21 A 41 A 61 B
2 B 22 B 42 C 62 C
3 C 23 D 43 C 63 B
4 B 24 A 44 C 64 D
5 A 25 D 45 B 65 B
6 B 26 B 46 C 66 B
7 C 27 B 47 B 67 C
8 C 28 C 48 A 68 B
9 C 29 D 49 D 69 B
10 A 30 A 50 B 70 B
11 C 31 A 51 A 71 C
12 D 32 A 52 C 72 D
13 B 33 D 53 D 73 B
14 A 34 B 54 B 74 A
15 A 35 D 55 A 75 D
16 A 36 A 56 B 76 A
17 C 37 C 57 C 77 C
18 D 38 C 58 D 78 D
19 C 39 A 59 C 79 B
20 D 40 D 60 A 80 C




